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debasish chakraborty 7 hours ago |
I

Homework : 16 persons
D-G-A-M-PQS-TK
THANK'YOU MAM. AWESOME SESSION.

&b G  REPLY

Mohit.. 7 hours ago

Thank-you Madam for this Really Amazing Class Session of today.. ,
And

My Answer for today's Homework is like-

Total = 16 Person...

Read more

b G  REPLY

shubhangi mishra 30 minutes ago

H.wans.

Total = 16 persons
D.GAM___PQS_TK
THANK YOU MAAM

& G REPLY

Nabanita De 1 hour ago

H.W-total 16 persons.D_G_A_M_ _ _PQS_TK.thank you maam. m

f G  REPLY

Sonam Pundir 7 hours ago

Hw ans no of person 16
D_G_AM___PQS_TK
Thank you ma'am for awesome session @ @

5 GP  REPLY

Arkajulan saha 7 hours ago

16 person
D-G-A-M--PQS-TK
Thank you mam

fy P  REPLY

Nitika Gupta 7 hours ago

Homework
16 Persons
D_G.A_M___PQS_TK

b P  REPLY

ruma rajwar 5 hours ago

homewrk ans:
D_G_A_M___PQS_TK
TOTAL 16 PERSON

@y GP  REPLY

Prince kesharwani 6 hours ago
D_GAM___PQS_TK16

@y GP  REPLY

Shubham jatwa 3 hours ago

16 persons total

@y GP  REPLY
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A certain number of persons are sitting}1-

a row facing to the north. M sits 4th to
the right G. There is one person sits
between D and G. Three persons sit
between M and P. The number of persons
sitting between D and M is same as the
number of persons sitting to the right of
P. Only one person sits between A and G.
Q sits 3rd to the left of T and sits to the
right of A. Six persons sit between A and
Q. Both T and K are immediate neighbors
to each other. S sits 3rd to the left of K.
The number of persons sitting to the right
of K is same as the number of persons
sitting to the left of D.
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A certain number of persons are sitting in
a row facing to the north. M sits 4th to
the right G. There is one person sits
between D and G. Three persons sit
between M and P. The number of persons
sitting between D and M is same as the
number of persons sitting to the right of
P. Only one person sits between A and G.
Q sits 3rd to the left of T and sits to the
right of A. Six persons sit between A and
Q. Both T and K are immediate neighbors
to each other. S sits 3rd to the left of K.
The number of persons sitting to the right
of K is same as the number of persons
sitting to the left of D.
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P Q S

How many persons sit between Q and K?
(a) Four (b) Six (c) Seven (d) Nine (e) None of these

What is the total number of persons sitting in a row?
(a) Twenty (b) Sixteen (c) Fourteen (d) Nineteen (e) Can’t be
determined

What is the position of D with respect to M?
(a) 6th to the left (b) 3rd to the left (c) 4th to th e left (d) 5th to
the left (e) None of these

If Z sit between A and M then find how many persons sit
between G and Z? (a) None (b) One (c) Two (d) Three (e) None
of these

Who among the following sits 4th to the right of P?
(a) T(b) Q(c) S (d) K (e) None of these
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Gﬂ?ﬁ@m M,N,O,PQ,R,S AMIT Udh Eight girls M, N, O, P, Q, R, S and T are sitting
CELEDES A R %, SReS 1 qﬁﬁ? 3’@[ on a circular table, not necessarily in the
Wﬁﬁ, ﬁ?ﬁﬁﬁﬁ?ﬂ GER'EIﬂ same order, such that some of them are
\’rﬁ'\’% 3R 3 BT EITE"\PI G| facing an inward direction and others are
Gﬁ'\’ %I N, R %mﬁgﬁ?ﬂﬂiw WaBT facing an outward direction. N is sitting 3rd
%, f\;rl'\qm'ﬁ@[ HE;;?[ 3R %I M Gﬁ?' NP to the left of R, who is facing inside. Four
dR AR a@%cn %.I O, S A & girls are sitting between M and N. O, who is
digY &1 AR 3HY %, TdIm GﬁT T ébf N facing outside the table, is an immediate
mﬁmu@ﬁ'\tﬁ%l P DI | neighbour of neither M nor N. P faces the
fa'Q'IT H %, ﬁlﬂﬁ'ﬂ'ﬂ A 3qb G L) same direction as the person seated

Afad BT Hd %I | o] & 910 9 Uiad &= opposite to her is facing. T sits fifth to the
tﬂ'a?[%, IND mil-l%%l S Gﬁ? R left of Q, who is not adjacent to N. S and R
dI Hd HTA ﬁ?\"ﬂ &1 3R qﬁ%l P,N * is not facing the same direction. P sits to the
eI E R RREIREY ST Y HHIA immediate left of N. T and M face the same

|EQII ﬁ%ém P%ﬁtﬁﬁﬁ %I S,R Gﬁ? M direction but opposite to P. S doesn't sit
G IR B RIEE R exactly between R and M.
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Eight girls M, N, O, P, Q, R, S and T are sitting
on a circular table, not necessarily in the
same order, such that some of them are
facing an inward direction and others are
facing an outward direction. N is sitting 3rd
to the left of R, who is facing inside. Four
girls are sitting between M and N. O, who is
facing outside the table, is an immediate
neighbour of neither M nor N. P faces the
same direction as the person seated
opposite to her is facing. T sits fifth to the
left of Q, who is not adjacent to N. S and R
is not facing the same direction. P sits to the
immediate left of N. T and M face the same
direction but opposite to P. S doesn't sit
exactly between R and M.
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Who sits sixth to the left of M?
A.OB.RC.ND.TE. None of the above

How many people face outside the table?
A.5B. 3 C. 2D. 4 E. None of the above
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Statements:

All nature are beauty

Only a few beauty are wonder
No wonder is worlds

Conclusions:

. Some nature are worlds
Il. Some wonder are nature
lll. No wonder are nature

(a)Only | follows

(b) Only I, Il and llI follows
(c) Only | and 1l follows
(d) Either I or 1l follow

(e) Either Il or Il follow
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Statements:

Some number are palindrome
Some palindrome are Digit
No digit are Prime

No prime are number

Conclusions:

I. No Digit are Number

Il. All prime are number is a possibility
lll. No palindrome are Prime

(a)Only | follows

(b) None follows

(c) Only Il follows

(d) Either I or Il follow
(e) Only I or 1lI follow


http://www.mahendras.org/

SBI CLERK 2022 / /@@ at 11:30 AM/ “

Q.4.Statements : All teachers are doctors.
Some professors are doctors.
All professors are writers
Conclusions: 1. All teachers being writer is a possibility.
2. All professors being teacher is a possibility.
3. No doctor is a writer.
4. Atleast some doctors are writer.

5. Some doctors not being professors is a possibility.
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Eight persons-S,T,U,V, W, X, Y, and Z are
standing on the circular table facing the center.
All the information is not necessarily in the same
order. S stands second to the left of X. W stands
adjacent to neither S nor X. Y stands to the
immediate right of W.Z stands second to the left
of V.V and W are not immediate neighbors. The
number of persons stands between X and V is
the same as the number of persons stands
between V and T. U stands adjacent to neither W
nor Z.
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Eight persons-S,T,U,V, W, X, Y, and Z are
standing on the circular table facing the center.
All the information is not necessarily in the same
order. S stands second to the left of X. W stands
adjacent to neither S nor X. Y stands to the
immediate right of W.Z stands second to the left
of V.V and W are not immediate neighbors. The
number of persons stands between X and V is
the same as the number of persons stands
between V and T. U stands adjacent to neither W
nor Z.
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What is the position of S with respect to V? a)
Immediate left b) Immediate right c) Third to the
left d) Third to the right e) Second to the left

Who among the following person stands
between T and S when counted to the right of S?
. The one who stands immediate left of X

Il. The one who stands opposite to Z

lll. The one who stands second to the right of U
IV. W

a) Only Il and IV b) Only | and Il ¢) Only lll and IV
d) Only I and Il e) None of these

Four of the five among the following are similar
in such a way to form a group, who among the
following doesn’t belong to the group? a) UV b)
WZc)TSd) YX e) WV
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If all the persons are arranged in alphabetical
order from S in an anti-clockwise then how many
persons remain unchanged in their position
(excluding S)? a) Three b) Two c) Four d) One e)
No one

Who among the following person stands third to
the left of Y? a) Z b) The one who stands
immediate left of W c) The one who stands
immediate right of X d) The one who stands
oppositetoSe) S
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Ten people-1,J,K,L, M, N,O,P, Qand R
are sitting around the circular table and
facing towards the table but not
necessarily in the same order. | faces the
one who sits third to the right of Q. J sits
fourth to the left of K. Neither | nor Q sits
adjacent to both J and K. Only two
persons sit between J and R who sits
second to the left of N. As many persons
sit between N and J is the same as
between | and P. The one who sits second
from P is sits second to the right of L. M
sits third to the right of O.
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Ten people-1,J,K,L, M, N,O,P, Qand R
are sitting around the circular table and
facing towards the table but not
necessarily in the same order. | faces the
one who sits third to the right of Q. J sits
fourth to the left of K. Neither | nor Q sits
adjacent to both J and K. Only two
persons sit between J and R who sits
second to the left of N. As many persons
sit between N and J is the same as
between | and P. The one who sits second
from P is sits second to the right of L. M
sits third to the right of O.
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sits fourth to the right of M. a) Lb) K c) Q d)
| e) None of these

Who sits third to the left of the person who faces
O? a) Person sits second to the right of Q b)
Person sits third to the left of L c) Person sits
fourth to the right of P d) Person sits second to
the left of R e) None of these

Four of the following five are alike in a certain
way and hence from the group. Which is the one
that does not belong to the group?

a)LJb) MN c) 10 d) PK e) RO
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Which of the following statement is/are true?
I. N faces the one who sits just left of P

Il. Q sits exactly between Kand M

lll. Only three persons sit between R and Q

a) Only 1 b) Only lll c) Both I and 11 d) All I, Il and
lll e) None of these

In which of the following statement the third
person faces the one who sits exactly between
the first and the second person in the following
arrangement? I.RLJ Il. MIK Ill. RQP a) Only | b)
Only Il c) Only I and 1l d) All I, Il and 1ll e) None of
these
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Six persons- |, J, K, L, M, and N are sitting on the
circular table facing the center. They are using
different types of bags- Birkin, Kelly, Clutch,
Saddle, Duffel, and Hobo but not necessarily in
the same order. L sits second to the left of the
one who uses Hobo bags. The one who uses
Hobo bags and the one who uses Clutch bags are
immediate neighbors. J sits opposite to the one
who sits immediate right of I. J neither uses
Hobo nor Clutch. The one who uses Birkin sits
second to the left of I. The one who uses Saddle
sits immediate left of the one who uses Duffel. L
neither uses Duffel nor Kelly. Either J or M uses
Kelly. N does not use Clutch.
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Six persons- |, J, K, L, M, and N are sitting on the
circular table facing the center. They are using
different types of bags- Birkin, Kelly, Clutch,
Saddle, Duffel, and Hobo but not necessarily in
the same order. L sits second to the left of the
one who uses Hobo bags. The one who uses
Hobo bags and the one who uses Clutch bags are
immediate neighbors. J sits opposite to the one
who sits immediate right of I. J neither uses
Hobo nor Clutch. The one who uses Birkin sits
second to the left of I. The one who uses Saddle
sits immediate left of the one who uses Duffel. L
neither uses Duffel nor Kelly. Either J or M uses
Kelly. N does not use Clutch.
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L K
Saddle Clutch

N
I

Duffel

Who among of the following person sits
immediate right of I? A. The one who uses Birkin
B. The one who sits second right of K C. The one
who sits immediate left of L D. The one who uses
Hobo E. K

Which of the following bag does K use? A. Clutch
B. Hobo C. Duffel D. Kelly E. Saddle

Which of the following combination is true? A.
N- Clutch B. K- Kelly C. J- Birkin D. M- Saddle E. I-
Hobo
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Birkin j

L
Saddle

Clutch

Which of the following statement is true? I) M
sits second to the left of the one who uses
Saddle Il) K sits immediate right of 1 lll) | uses
Duffel A. Only Il B. Only I and 11l C. Only IlI D. All
I, Il, and Ill E. None of these

Who among the following person uses Hobo
bag?

A. The one who sits immediate left of L

B. The one who sits second to the right of M
C.K

D. The one who sits third to the right of |
E.N
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Seven persons A, B, C, D, E, F and G are sitting
in a straight row and facing north direction but
not necessarily in the same order. Distance
between two adjacent persons is 4m. G sits 8m
towards the left of A. G does not sit on the
extreme end of the row. E sits towards the
right of A. Distance between G and E is at most
16m. Only two persons sit between F and C. B
sits 4m towards the right of F. Distance
between B and D is not 8m. C does not sit
towards the left of D.
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Seven persons A, B, C, D, E, F and G are sitting in a
straight row and facing north direction but not
necessarily in the same order. Distance between
two adjacent persons is 4m. G sits 8m towards
the left of A. G does not sit on the extreme end of
the row. E sits towards the right of A. Distance
between G and E is at most 16m. Only two
persons sit between F and C. B sits 4m towards
the right of F. Distance between B and D is not
8m. C does not sit towards the left of D.
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What is the distance between E and D? a) 16m b)
4m c) 8m d) 20m e) 12m

Final arrangement:
D G C How many persons sit towards the right of the

one who sits 4m to the left of F? a) Two b) One c)
Three d) Four e) Five

What is the position of A with respect to C? a)
8m to the left b) 3rd to the right c) 4m to the
right d) 2nd to the left e) 12m to the left
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Final arrangement:

D

G

C

Four of the following five are alike in a certain
way as per the given arrangement and thus form
a group. Which of the following one does not
belong to that group? a) DC b) AF c) EB d) GE e)
AG

How many persons sit between G and B? a) One
b) As many persons sit between D and F ¢) Two
d) Three e) As many persons sit to the right of G
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316 fa - E,F,G H,LJ K Gﬁ?’ LUD Eight persons—E, F, G, H,1,J, Kand L are
3%%1&@?%@ 3R standing in a linear row facing the north
@WE@; G| Wqﬁ direction but not necessarily in the same
Wﬁiﬁl , ) %aﬁﬁ?ﬂ#{ww order. H stands third to the right of J. At

E,Pf least two persons stand to the left of J.

, . HAfFIdl  The number of persons standing to the
DI HSITF a?iﬂ'sc Gﬁ?@%mﬁ right of H is one more than the number of
| ; : % persons standing to the left of F. G stands

H. F Gﬁ?’ H & o forad aafad 6 Gﬁ? ED  tothe right of H. As many persons stand
E@J ' K, L%aﬁﬁgﬂ%ww between F and H as between G and E. K
ET.‘}T%I I GﬁT Kﬁmﬂq@'\‘ﬂqﬁél stands second to the right of L. | and K are

not immediate neighbours
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Eight persons—E, F, G, H, |,J, Kand L are
standing in a linear row facing the north
direction but not necessarily in the same
order. H stands third to the right of J. At
least two persons stand to the left of J. The
number of persons standing to the right of
H is one more than the number of persons
standing to the left of F. G stands to the
right of H. As many persons stand between
F and H as between G and E. K stands
second to the right of L. | and K are not
immediate neighbours
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How many persons stand to the right of L? a)
One b) Five c) Four d) Two e) Three

Which of the following statement(s) is/are true?
I) Only one person stands between L and K

Il) F stands immediate left of J

lll) | stands end of the row

IV) E stands to the left of F

a) Only (I1) and (1) b) Only (1) and (IV) c) Only ()
and (I1) d) Only (ll) and (IV) e) Only (1), (Il) and
(1)
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If all the persons are arranged in alphabetical
order from the left end, then how many persons
remain unchanged in their position? a) One b)
Two c) Three d) More than three e) No one

Four of the five among the following are similar
in such a way to form a group, which one of the
following doesn’t belong to that group? a) IJ b)
FEc) LK d) IG e) HG

If J and L are interchanged in their positions then
K and | did the same, with respect to the new
positions, who among the following person
stands third to the right of E? a) The one who
stands immediate left of Fb) Fc) Gd) | e) The
one who stands second to the right of G
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< Afad gl GHHIdR ufadal siyfd ufad 1 3R

tfedd 2 H U Ufekd R Ui afadal & A1 9 2|

Ui safad SO @t 3N 3749 § 3 XY &ferr i

3R I &1 ufed 1 7 93T yds aafae ufeg 2

AP Afqd & S faudta 9131 ufd 1 ufea 2

R e d 21z P SR A TN VAR
39 Afdd &

|

Ten persons sit in two parallel rows i.e. row 1
and row 2 with five persons sitting on each row.
Five persons face north and rest face south.
Each person sitting in row 1 sits exactly
opposite to each personinrow 2. Row 1 isin
south direction of row 2. Z sits third to the right
of Q. Z sits opposite to the person who sits
immediate right of O. O faces north. D sits
opposite to the one who sits third to the left of
M. Z face the opposite direction to Q. Only
three persons sit between Q and P who sits in
row 1. L is an immediate neighbour of both O
and D. S sits second to the right of the person
who sits opposite to D. R sits immediate right of
N. R faces the same direction as O. S and L face
the same direction as Q.
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Ten persons sit in two parallel rows i.e. row 1 and
row 2 with five persons sitting on each row. Five
persons face north and rest face south. Each
person sitting in row 1 sits exactly opposite to
each person in row 2. Row 1 is in south direction
of row 2. Z sits third to the right of Q. Z sits
opposite to the person who sits immediate right
of O. O faces north. D sits opposite to the one
who sits third to the left of M. Z face the opposite
direction to Q. Only three persons sit between Q
and P who sits in row 1. L is an immediate
neighbour of both O and D. S sits second to the
right of the person who sits opposite to D. R sits
immediate right of N. R faces the same direction
as O. S and L face the same direction as Q.



http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ ﬂ

How many persons sit between L and R?
A. Two B. Three C. One D. None E. None
of these

If R is related to Q, N is related to M then
i nthe same manner Lisrelatedto _ ?
A.ZB.PC. OD.DE. None of these

Who sits immediate right of the one who
sits oppositeto S? A.LB.RC.D D. NE.
None of these
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Which of the following statements i s not true?
A. S face the same direction as R B. R sits at the
end of the row C. D sits opposite to P D. O sits
immediate right of L E. All are true

) Which of the following is true regarding M? A.
M sits at the end of row B. M sits opposite to R C.
M sits immediate left of S D. Both a) and c) E.
None is true
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